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General Inscructions (AT fAder):

1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, Faculty and Name of
the Subject on the OMR Answer Sheet in the space Provided. Put Your Full Signature on the OMR
Answer Sheet in the space Provided.

3Y 37U o, AT PIs, 3reghetics, Uoiee AT, e &t farey,ureht, femmer dar faw=r &1 e OMR @R
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2. There are 35 Multiple Choice Questions in all.

gor 35 dg-famedr uear E1

3. All questions are Compulsory. Each question carries 1 mark.

Aaft voar siferaret 21 ud®s vedr 1 3B F B

4.Four Options are given for each question. Choose the most suitable option and indicate it by
blackening the appropriate circle [ *] in the OMR Answer Sheet given separately.Use only Blue/Black
Ball-Point Pen. The use of Pencil is not allowed.

TE U # TR ey Y o ) gad ¥ AoH Iugd FIdew goae 3 s F Y gv OMR 3w
UAFG U A Mt B Hell HT [ ¢] ITR B Jfaa BT | Nl A1 FHIell Ac-Wige dAA BN & YT B |
et @1 yeier afdfa 2

5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator. You are
allowed to take the question paper with you.

T oael Bised A Ul OMR 3TR Uoiep dieis i citer Siforr | Uoa-usl 31T 319d |1 & o Jebd & |

Adhere to the instructions above very carefully otherwise your OMR Answer Sheet will be
invalid and will not be evaluated.

SR affa el & eaeyde Ureer BT 3eTem 3MuHET ITR UAG AT BN AR IFB ST Fét
Pl SRM |




10.

11.

12.

13.

The number of atoms in a body centred cubic (bcc) unit cell of a monoatomic
elementary substance is equal to :-

T Bfad TT U PIGH H URASI BT AT Bl 8 1 7

(a) 1 (b) 2 (c) 3 (d) 4
The percentage of space occupied by spheres in a cubic close packing (ccp) in three
dimension is :

&fem # ot (e daqe H Suater I &1 fohd=r gfcrerd Tl gRT BRIl & 2

(a) 26% (b) 52.4% (c) 74% (d) 76%
Molarity of an aqueous solution containing 40g of NaOH in 2 litre of solution is -

40g NaOH, 2 <fier Stei faera # SuRerd g, faes @7 dierar g

(a) 0.5 (b) 1.0 (c) 1.5 (d) 0.75
EMF of a cell with Nickel and Copper electrode will be :

Given : E°%\**/ni = - 0.25V, E%*/cu = +0.34V

ol TAT PIR Soidels dlel Aol &1 E.M.F. farel /fear & —

E°ni’/ni = - 0.25V, B/ cu =+0.34V

(a) 0.59V (b) 0.09Vv (c) -0.59V (d) -0.09v
Catalyst used in Haber's Process is -

TR fIfYy % ygaa SoR® § —

(a) Fe (b) Ni (c) V,0; (d) Cr
Which of the following is ore of iron (Fe) :-

(a) Haematite (b) Cassiterite (c) Dolomite (d) Bauxite
gTH A el (Fe) &l 3RRG 8 —

(@) ®erEe b)  ecIEE © SrefrTge (d) CICKRIES
The role of a catalyst is to change :

(a) Gibbs energy (b) enthalpy

(c) activation energy (d) equilibrium constant

TAIRP P HRUT R 9&c1 ST & 7
@)  fret st b) s (C)fmaT St d)  wge Frdis

Which of the following is independent of temperature ?

(a) Molarity (b) Molality (c) Normality (d) Formality
f=faRaa § 9 ®I9 am R R T8 dxar 8 ?

@) AreRar (b) wreTerar (©) AT d)  ®Her
The molar conductivity of an electrolyte increases as -

(a) dilution increases (b) temperature decreases

(c) dilution decreases (d) none of above

Jga—3uEey Ao @ AR dradal H gig Bril § o9 —

@) T ¥ gfg BN ® (b) AUAE H HH BT ®

(© TIar § HH BRI B (d) SWRIad Bl W Bl

What is the covalence of nitrogen in N,Os ?

N,Og & ARSI BT AgATSIhdT FT & 7

@) 1 (b) 2 (9] 3 (d) 4
Which of the following ion will form coloured compounds ?

f=fafad § 9 9 |1 emae Sie Affe g9mar & 2

(a) s (b) Mn** (c) Zn* (d) Ti*
The spin only magnetic moment of M** ion (Z = 27) is :

M* 3 (Z = 27) &1 gaa1g el 2

(a) 8.37 BM (b) 3.87 BM (c) 6.92 BM (d) 1.44 BM

Identify the oxoacid in which ‘P’ exist in +5 state :

+5 JATRNBRUT IYARAT Tl BIFHIRT B AR Dl U
(a) H3PO3 (b) H3PO, (c) H3PO, (d) H4P,0¢




14.

15.

16.

17.

18.

19.

20.

21.

22.

The process of heating the ore in the excess supply of air below its melting point is called :

(a) Calcination (b) Roasting (c) Reduction (d) Smelting
Y B ARG H AATH BT TeiD B A TH FIA DI UHAT BT B ©

@) IRESICE! (b) R (© SEDE ) PUCE
Which of the following ligands form chelate ?

(a) Acetate (b) Oxalate (c) Cyanide(d) Ammonia
forfaRad & siv—1 forits e fueie samar 8 2

@) wIee (b) 3ifrsTele © ATSS d) SEIED))

The number of halide ions in [Pt(NH;)sCl,Br]Cl will be :
[Pt(NH,)3Cl,Br]CI & BTZS 31T Bt TeT Bt -
(a) 4 (b) 6 (c) 2 (d) 1

dry ether
2CH3Br + 2Na ---------——--——- > CH; - CH3+ 2 NaBr
The reaction is :

(a) Friedel craft reaction (b) Wurtz reaction

(c) Fittig reaction (d) Wurtz Fittig reaction

2CH3Br + 2Na ----------—----—- > CH; - CH3+ 2 NaBr dg &rﬁ-r%m%

@) WiSe Hroe srfafsrar (b) g siffshan

© HfeeT sifafba (d) gt ffeeT s

CH3-CH,-Br + KOH (alc) ------ > A Here "A'is

JE AR

(a) CH2 = CHZ (b) CH3'CH2'OH (C) CHZ = CH-Br (d) CH3'CH3

Butan-2-olisa :

(a) 1° alcohol (b) 2° alcohol (c) 3° alcohol (d) dihydric alcohol

T2 — 3 § —

@ 1* U Igl (b) 2 Teoblgd

© 3’ TeohIgql (d) GoTsigd Uehled
H,S0,

C,Hs-OH -------memee- > ‘A Here 'A'is :
443K

T| AT -

(a) CHZZCHZ (b) CzHG (C) CH3CHO (d) Csz

LiAIH,

CH3CHO + 2H -------—--—-——- >'A Here 'A'is :

T| AR -

(a) CH;3 CH,0OH (b) CH;0OH (C) C,Hg (d) CH,4

Which of the following is not a method of refining of metals ?

(a) Electrolysis (b) Smelting (c) Poling (d) Liquation
T | B O1g BT IR FR @ fafy T & 2

@) faega sme (b) PUCE © qrfef T d) ECICa



23.

24.

25.

26.

27.

28.

29.

30.

Radioactive disintegration is an example of -

(a) Zero order reaction (b) First order reaction

(c) Second order reaction (d) Third order reaction

fSaerdt fages e SR -

(@) I Bife AT BT (b) Yo pIfe arffhar &t

(©) g @ife ifaferar @t d) T pife aififsar &1

Which one of the following is diamagnetic in nature ?

ST & P IR Uiy BT ?

(a) Co* (b) Ni%* (c) cu® (d) Zn**
Transition elements are :-

(a) s-block elements (b) p-block elements

(c) d-block elements (d) f-block elements

WHAY TA B —

(@) $- i I (b) p - @ifd

© d-<iier T (d) f- wifes aea

CH;3 - CH, - | + KCN (alc.) ------------ >"'"A'. Here 'A' is

Jgf 'A'®

(a) CH;-CH,-NC (b) CH;-CH,-CN (c) CH;-CN (d) CH3-NC

Hydration of propene in the presence of dil. H,SO, gives :

g H,S0, @1 IuRfT 3§ U= &1 S (Serdio) dR1 IR U< il © -

(a) CH; - CH,- CH,-OH (b) CH;- CH(OH)- CH;4
(c) CH; - CH,-OH (d) CH5-OH

NaOH (Conc.)

2C5H5CHO > C6H5COONa + C6H5CH20H
A
This reaction is :
(a) Kolbe's reaction (b) Clemmensen’s reduction
(c) Friedel - Craft reaction (d) Cannizzaro reaction
A
2C6H5CHO + Conc. NaOH > C6H5COONa + C6H5CH20H
g arfafear § -
@) Pled rfAforar (b) T T
(©) WISa—Hioe rfafsrar d) DEIOTRT STfAfhar
Hybridisation of nitrogen atom in CH;NH, is :
CH3NH, % -rggre URATT] BT HHROT g7
(a) Sp (b) sP? (c) sp® (d) Spd
1° Acid amide may be converted into amine by :
(a) Hoffmann bromamide reaction (b) Claisen reaction

(c) Perkin reaction (d) Sandmeyer reaction



31.

32.

33.

34,

35.

1° tRre vaTsS @1 f sfdifshar grT v & 9qar S Aoar 2 ?
@) 2Hie SRS b)  wooH
() afdp ) FewRR

The gas evolved when methylamine reacts with nitrous acid is :-
TS I B AT Rersd Ui @ Affha dve R p—x 1 Meadi g ?

(a) NH; (b) N> (c) H, (d) CHe
What are the hydrolysis products of sucrose ?

(a) Fructose + Fructose (b) Glucose + Glucose
(c) Glucose + Galactose (d) Glucose + Fructose

GHIST & STeld fUeed I a1 IdTe g © °

@) waerel + waerel (b) TS + TfDIS

) DI + el d) T + AT

Carbohydrates are stored in human body as :

(a) Starch (b) Glycogen (c) Cellulose (d) Amylose
AT IR ¥ pEEsse fbd wa § M Y&dr g 7

@) werd (b) AT DI © SRS (d) IEEIE
A drug which is effective in curing malaria is :

(a) Aspirin (b) Quinine (c) Morphine (d) Analgin
UH Gq7 S AARIT & AT H RRER § -

@) THIRA (b) TS (© A (d) GGG
Bakelite is an example of :-

(a) elastomer (b) fibre (c) thermoplastic (d) thermosetting plastic

JPege TP IETENT B

@ SRR (b) BISER ) emfenRe® (d) oI wRed
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General Instructions (ITHT fAg ):

1. Candidates should answer in their own language style as far as possible.

Ttenff guriyg SOt HTIT- Aeft A IR T |

2. This question paper has three sections. For example- A,B,C. From all sections answer
according to instructions.

TAUNTE S TS B | JUT: F,9,7, | It e I SR uslf & IR S |

3. The total number of questions in section ‘A" is 07. Answer any 05 of them. Each question
from this section is of 01 mark.
WS T U Ul B ol TSAT 07 8 (IH 01 ¥ 07)1 378 U fhgl 05 Ui & ¢ | 3T WS A UAF UY 01 3
okl

4. The total number of questions in section ‘B’ is 07. Answer any 05 of them. Each question
from this section is of 03 marks.
TS G T U B Ho WA 07 8 (IH 08 T 14) | I90 F fargt 05 Ui F IR S | 39 TS W YD Uy
03 3[FHIT |

5. The total number of questions in section ‘C" is 05. Answer any 03 of them. Each question
from this section is of 05 marks.
T T H U B A TAT 05 8 (UY 14 9 19)1 T90 I T8l 03 Ul HIW ¢ | T WS I TP UH 05
G HIE |



Give an example of aerosol ?

T WA hT ISEXT ¢ :

What is metallurgy ?

gTgPHH T 8 ?

Among hydrides of group 15 elements which has lowest boiling point?

it 15 & d@l & TRSREY H e Hyid gAdH g1 | ?

How many unpaired electrons are prsent in Mn?*ion ?

Mn?3 fra ST soragt Ao § ?

What type of hybridisation is involved in the geometry of ‘square planar’ ?
“qif el Ay § fH geR w1 HaRor grn S g ?

Write the IUPAC name of :

CH; OH
I I
CHy, —— CH —— CH —CH, —CHO
CH3 OH
I I
CHy _— CH _____ CH-CH,-CHO 3T IUPAC 7 aaTt :

Write name of a disease caused by deficiency of vitamin ‘D’.

f3eTf ‘D’ &t ! Y I aTell Ueb SR &1 A ford |

What is order of reaction ? What is the unit of first order reaction ?
JAMATHAT BT B a1 © ? YT PIfS AMHAT HT 7195 T © 7

Write difference between Physisorption and Chemisorption.

Wi AT vd e rfEenye § sfdv ford |



10.

11.

12.

13.

14.

15.

16.

Complete these reactions (erfafsharel T X1 BX)

Peroxide

(a) CH;-CH,-CH=CH, + HBr = -

(b) CH;-CH,-Br+ AgCN ----------mmm-- >

Complete these reactions :

TR BT T AN
(@) CHs-CH,- OH + PCls - >
H
(b) Conc. HNOs .
Conc. HiSOs *

Write three differences between DNA and RNA.

DNA TG RNA H dF iR ford |

Distinguish between homopolymer and Copolymer. Give one example of each.

SR 3R BIdifor R & 3iay forRd Tl Ud & Th—Ud ISIER < |

(a) What are tranquilizers ? Write one example.
TRTiddS FT & ? U IRV fordd |
(b) What are Analgesics? Write one example.
dTSTERT 1 § ? Ueb IaTeRvl ford |

Write short notes on -

(a) Diamagnetism (b) Paramagnetism (c) Ferromagnetism
Jfere fewoft ford -
(a)  wfgEsE (b)  erggawT (c)  chedawm
(a) Write Faraday's law of electrolysis .
fagrd suees @ forw o & foam fordd |
(b) 2 ampere electric current is passed through aqueous solution of copper

chloride (CuCl,) for 30 minutes. What amount of copper (Cu) will deposit

at cathode ?



17.

18.

19.

2 YRR #1 fIgd oaRT BR FaRgs (CuCly) & e 3 30 e 0@ varfed &=+ W fha- AmEm 4

HIIR (Cu) sadgrs WR e grm ?

Draw the structure of the following compounds :

frfoRaa AT @ e gemd —

(a)
(d)
(a)

(b)

Hs;PO, (b) H3PO3 (c) PCl;
XeO; (e) XeOF,
What is mole fraction ?

AT UYTST T 8 ?

What is the mole fraction of glucose in 10% (w/w) glucose solution ?

10% (W/w) @ISt faerae # Te[dlst &1 Aldt TSl 9T 8T 2

Identify P,Q, R, S and T in the following reactions :

fereaferRaa arfafpamell & P, Q, R, ST T &1 gam :

(a)

(b)

(d)

SOCl, H,
CH;COOH >P > Q
Pd - BaSO,
(i) Cl,/Red P
CH3CH,COOH e > R
(i) H,0
0
[ Zn-Hg
CHs- C-CH3 ------mmmmmm- > S
HCI



